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OIS XICHZH 1t 65,694,645 37,767,177 27,927,468
= 43,820,747
== 3,727,474
Al 18,146,424
OIAISA ol & M 2,761,272 651,972 2,109,300
= 30,000
Al 2,731,272
OIMEX M2ZAIR 2= & E2 2,761,272 651,972 2,109,300
=S 30,000
Al 2,731,272
TAWIIEEERS 2= 2,009,500 5,200 2,004,300
201 et 3| 9,500 5,200 4,300
01 AtR2tc|bI 9,500 5,200 4,300
OZANWIZEEHS 75 HIIRA ¢ 9,500
— & A==g 150,000&x10E *12] 1,500
-2 100,000 *2A1 2+ 102 *43] 8,000
401 AIZHIX S0HH 2,000,000 2,000,000
01 AlZH| 1,700,000 1,700,000
OZAWIIEEENE 25
1,700,000,000& 1,700,000
02 22/l 300,000 0 300,000
OZANWIZEEHE 75 2289
300,000,000 300,000
S 0lMEX SeE gd 498,372 493,372 5,000
201 Let=23 | 16,000 11,000 5,000
01 At2teltl 16,000 11,000 5,000
ORXE UM Se&E KAl2e 10,000
—SJI¥E stugd 100,000 +50m’ 5,000
—A0tEANOCIE 28 wH
2,000,000 2,000
—SHRA ZH uA 3,000,000& 3,000
OO0IMEZX ZEANE 82 6,000,000& 6,000
308 AtAIEHMSOIE 482,372 482,372
11 S| 2SO0 UeZBSHASAIE 482,372 482,372
O=dE UM SE 4H ASAY
Hl 482,372,000& 482,372
OINIEIX H2ope X3 123,400 123,400 0
201 er23 | 118,400 118,400
01 At2teltl 99,800 99,800
OFHAl OIMZN o & H&F ARE =<
100,000 x 102 #4353 4,000
ODIHIEA AI2IAS 2210l E3E 28 &
B 30,000,000 30,000
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S OIMSA ol 2 N2
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHEZZM A S S2S 023 MH
2502 *37,600 70K 65,800
02 S3=gHl 18,600 18,600 0
Ost=g oz ESe 25 A2t
10,000,000& 10,000
Oet=etd 223 &5 A3t
5,000,000 5,000
Ost=dlietdstsl 85 A2l
2,000,000 2,000
OogeEIg =Alzel 1,600
—NSIHAl 100,000 *1CH 100
—NsSXHEE= 800,000 1CH 800
—s X2l 700,000 1CH 700
203 gR=4| 5,000 5,000
03 A= PR FA| 5,000 5,000
ODIAIEAl SHHE g4
5,000,000& 5,000
OISR A2 WSES 30,000 30,000
201 =3 30,000 30,000
01 AtR2t2lt] 30,000 30,000
OO0IMZX AIZE RO 2T
30,000,000& 30,000
OIMIZHA FSAIE S22 MY 100,000 0 100,000
= 30,000
Al 70,000
401 AIZHIX S0HH 100,000 0 100,000
=S 30,000
Al 70,000
01 A28l 100,000 0 100,000
OOIMZHA FHXS HS2elAre
100,000,000 100,000
< 30,000
Al 70,000
SE==E2 HIIE W 62,888,278 37,072,630 25,815,648
= 43,820,747
= 3,697,474
Al 16,370,057
toletd 58g 2 238,375 378,375 140,000
= 45,000
Al 193,375
toled dae 2l 61,875 61,875
201 fer= 3| 61,875 61,875
01 At 2|l 12,000 12,000
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OUDIEd MzE ADE 22
2,000,000 67K 2 12,000
02 S3=gHl 49,875 49,875 0
Oliyjetd 83 s52= 28,275
MRS 2,200,000 128 26,400
—Ste= 156,200« 12& 1,875
Oolletd dae FA2el
300,000 «6H 2+ 123 21,600
2HE S Il 2c 11,200 1,200 10,000
201 Zet=3h] 1,200 1,200 0
01 Al 22| 1,200 1,200 0
OBZRY =HTY| A2E 7Y
600,000& 600
O=ddHl 8 S Al 600,000 600
405 AHaHE S 10,000 10,000
01 ML ESF SHI 10,000 10,000
OBHRE ZFTH(HHSFI|) 7L
10,000,000 1CH 10,000
Uoletd =3% sl 150,000 150,000 0
== 45,000
Al 105,000
201 2= 150,000 150,000 0
[ 45,000
Al 105,000
01 At2t2ltl 1,452 1,452 0
Oly|etd £3Y SAEY eXi=
24,2003 5 A+ 123 1,452
= 436
Al 1,016
® 222 148,548 148,548 0
OUlIEy 53Y AR
29,709,600 *5I 2 148,548
== 44,564
Al 103,984
DINBIX deS &Xl AFY 15,300 15,300 0
201 er23 | 15,300 15,300
2 52434l 16,300 15,300
OOIMEZR dlss StIRs
16,5003 6 A+ 122 1,188
OUIMZA s S FXl2tel
196,000 x6IH =% 123 14,112
= UOIE e 62,649,903 36,694,255 25,955,648
= 43,820,747
=S 3,652,474
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Al 15,176,682
HOOATHE AZH X2 4,000 5,400 21,400
= 2,000
Al 2,000
307 21201 & 4,000 5,400 1,400
= 2,000
Al 2,000
02 B HAHE L 4,000 5,400 A1,400
OMOIIATIZ OBl EX2
4,000,000 4,000
= 2,000
Al 2,000
IHEE N=sA2d 25AHY 512,000 750,000 A238,000
= 307,200
Al 204,800
402 2I2FXH=201& 512,000 750,000 238,000
= 307,200
Al 204,800
02 SIINEANSEX(0IETHR) 512,000 750,000 A.238,000
OJIEE N=sAEYY BSAY 512,000
—get 100, 0002 +5,000CH 500,000
= 300,000
Al 200,000
—MASSE 600, 0003 *20CH 12,000
= 7,200
Al 4,800
ISR 700 K& 49,247,000 24,740,500 24,506,500
= 35,940,000
=S 3,360,000
Al 9,947,000
402 2I2F X201 & 49,167,000 24,686,500 24,480,500
= 36,860,000
= 3,360,000
Al 9,947,000
02 QI XHZ AL E R (01X THE) 49,167,000 24,686,500 24,480,500
O&IIXSAt et EE 49,167,000
—S5EX 19,976,000,000& 19,976,000
= 14,944,000
Al 5,032,000
— &I =E 11,271,000,000& 11,271,000
= 9,716,000
Al 1,555,000
—&IIHA 17,920,000,000& 17,920,000




2A:

X XH -
o=

OIS KT CH 24 1
=2 UOIE e

AT T

ol =2 IIE e (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 11,200,000
=S 3,360,000
Al 3,360,000
405 KHaHE SH 80,000 54,000 26,000
= 80,000
01 ML ESFSHI 80,000 54,000 26,000
OMIINHSRHZE) 80,000
—S5EX 6,000,000 =4CH 24,000
= 24,000
—AEEEH 14,000, 0002 =4CH 56,000
= 56,000
FASHXX 22SAH 4,500,000 5,070,000 /570,000
= 4,500,000
402 BIZtAH=01A 4,500,000 5,070,000 /570,000
= 4,500,000
02 RIENEASEZ(0IETHR) 4,500,000 5,070,000 A570,000
O*AZHEKIX QI2H2 2
4,500,000,000& 4,500,000
= 4,500,000
0120l SSXtE2l LPaAF &t XA 210,000 490,000 280,000
= 105,000
Al 105,000
402 212+ X201 & 210,000 490,000 A280,000
= 105,000
Al 105,000
02 QI T2 AL EE (01X THE) 210,000 490,000 280,000
OO0 el0] St LPGRE Mk XIZ AL
7,000,000& *30CH 210,000
= 105,000
Al 105,000
ZII0IEX 2SAE 480,000 525,600 245,600
= 240,000
Al 240,000
402 2I2F X201 & 480,000 525,600 45,600
= 240,000
Al 240,000
02 QI TH2AILEE (01X THE) 480,000 525,600 45,600
O&IIOIER 25 A
1,600,000 *300CH 480,000
= 240,000
Al 240,000
=) 2SAE 60,000 40,000 20,000
= 30,000
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Al 30,000
402 2IZtA=01d 60,000 40,000 20,000
= 30,000
Al 30,000
02 2IIHZ AN 2 X (01 TR 60,000 40,000 20,000
ORIIZHI| BSAY
20,000, 0002 =3CH 60,000
= 30,000
Al 30,000
SR BIEHA HZAHS 5,108,100 4,605,800 502,300
= 2,579,900
== 255,406
Al 2,212,7%
402 QI2F X201 & 5,108,100 4,605,800 502,300
= 2,579,900
== 255,405
Al 2,212,79%
02 RIINEASEZ(0IETHR) 5,108,100 4,605,800 502,300
OZ Rt WX, MZEX 2 S MY
5,108,100,000& 5,108,100
= 2,579,900
s 255,405
Al 2,212,7%
BHEJtA K 2EAHY 41,948 10,500 31,448
201 el 4,000 0 4,000
01 At22t2lt] 4,000 0 4,000
OUJIE e 2t 224|
4,000,000& 4,000
301 eEtE N = 500 500
14 DBt 2 a3 500 500
OfiEotA WheEd g duEds
10,0002 x50 500
401 A2 HIRL R 0HbI 11,000 11,000
01 Al&HI 11,000 11,000
OXNSA S3d HMethe ZAE &1
11,000,0000& 11,000
402 QI2F X201 & 26,448 10,000 16,448
03 2IZH2AETAI I 26,448 10,000 16,448
OXJIHA 2X= N2HR & ===
17,4002 %1, 520CH 26,448
23012 IS ds7A 2l 174,254 134,000 40,254
= 87,127
= 13,069
Al 74,058
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 174,254 134,000 40,254
= 87,127
== 13,069
Al 74,058
02 QI XH2AILEE (01X THE) 174,254 134,000 40,254
OBZII212D thEIL MAZK 52X
2l 174,254,000 174,254
= 87,127
== 13,069
Al 74,058
HARZ0I8 AUSIIE =3 30,800 30,800 0
= 9,240
Al 21,560
201 er2 3| 30,800 30,800 0
= 9,240
Al 21,560
01 AtR2t2|HI 30,800 30,800 0
OFAAHE OISAE dUHSIIE 58 £ &
=8 ,800,000& 30,800
== 9,240
Al 21,560
SIS NISA E5Ag 2L 30,482 29,472 1,010
101 @124H| 30,482 29,472 1,010
M ORINZZ2NSE S 30,482 29,472 1,010
OtZestd ISt EsSAtE 2XgR ¢
ZiH| 23,705
—JI2= 9,6203 x1H+BA| 2222« 112 18,625
-5+
9,620& x1&+BAI2h+5F=+ 113 4,233
— ¢ x==g 9,620 x1H+BAI 2+ 113 847
OB ISkt ESAd 2282 o
ges 4,388
—Jlzs 1,780« 1 +BA| 2222« 112 3,447
-5+
1, 7803 x1&+BA| 2hx6F=+ 113 784
—Axt=g 1,780 x 1 +BAI 2t 112 157
OZTsA TSkt BESAE BXgR 2
L= 2,389
—=2g= 28,093,000 4. 5% 1,265
—IES 28,093,000 *3.545% 9%
LoD RYEE 996,000 *12.81% 128
HEE NsA22d 2s5AE 22882 30,482 29,472 1,010
101 @124H| 30,482 29,472 1,010
04 JIZtNZ22 NS+ 30,482 29,472 1,010
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMsAZYY E5AY BXSR 012 23,706
—J=2 9,6203 x1H+BA| 2222« 112 18,625
—FEaY
9,620& x 1 +BA| 2h+5F=+ 113 4,233
— ¢ x==g 9,620 x1H*BAI 2+ 113 847
ONs=AE 2SAY BEXEe dag=s 4,388
—Jlz= 1,7803 1 +BAI 222+ 11& 3,447
—Fg4g
1, 7803 x1&+BA| 2h+5F=+ 113 784
— ¢ x==g 1,780 x 1 +BAI 2112 157
OMsAEYY ESAY BEXR 282 2,389
—=glo= 28,093,000& *4. 5% 1,265
—22EE 28,093,000 *3.545% 9%
—LIFIIRAEE 996,000 %12.81% 128
At 2HSH oHH & MtEHs St 66,697 78,247 211,550
101 @124H| 30,482 29,472 1,010
M ORINZZ2NSE S 30,482 29,472 1,010
OXSxt 2HSH oH L WS 20 EX
oS ol 23,705
—Jl22 9,62021 124 +8AI 2222+ 112 18,625
—FEaY
9,620& x 1 +BA| 2h+5F=+ 113 4,233
— o x==g 9,620 x1H+BAI2H+ 113 847
OXSxt 2HME SH L WS 20 EX
2T dEas 4,388
—Jl2=s 1,7803 1 +BAI 2222+ 113 3,447
—FE4g
1, 7803 x1&+BA| 2hx6F=+ 113 784
— ¢ x==g 1,7803x 12 +8AI 2t 113 157
OXSxt 2dHet et & WEele 20 2
A2 28= 2,389
—=2g= 28,093,000 4. 5% 1,265
—2ZES 28,093,000 *3.545% 9%
LoD RYEE 996,000 %12.81% 128
201 er2 3| 36,215 48,775 A12,560
02 S3=gl 36,215 48,775 212,560
O=2d et DN L& 2E23(S1) 36,215
—LSHK[I SAMEHLEZ) <8t DXIA
2,820 *421x23]x 123 27
—HEZ2ACH 2-HE /I QXA
2,820 x4021+25| 86 19,402
— B NSAHE fgt DA
2,820 %1002+ 122 3,384
—452 B=A ZIIHAF OHH2
5203 *12,65124%23] 13,158
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ODINIBIX SHEHE Ol2 ZAIALY 59,040 59,040
= 29,520
== 14,760
Al 14,760
101 e124d| 45,440 45,440
= 22,720
=S 11,360
Al 11,360
04 JIZtN2Z2 XS E 45,440 45,440
ODINIEX SHHE S Z3 AH2EH|
45,440,000 45,440
= 22,720
= 11,360
Al 11,360
201 2= 13,600 13,600
= 6,800
= 3,400
Al 3,400
01 AFS2t2ltl 11,200 11,200
OUIMZHAI =EHE 228 HE 23| 11,200
—SEXY Xtz
900,000 »1CH*8IHE 7,200
= 3,600
s 1,800
Al 1,800
—J|IEt28 3| 4,000,000 4,000
= 2,000
=S 1,000
Al 1,000
2 S52g4l 2,400 2,400
OUINEX SHE A8 Z3 SHEXE
Sl 300,000 »1CH*8IHE 2,400
= 1,200
== 600
Al 600
FASHA AXIAY 2,012,900 2,012,900
401 AlZHIZ S0 2,012,900 2,012,900
01 Al&H| 2,012,900 2,012,900
O4884 JENE 7S 28 REE
2,012,900,000& 2,012,900
HIIXt 2HEY SHI| X NFA 60,000 60,000
402 RI2F X201 60,000 60,000
01 QIZENHE2 AP 2 (RERITH ) 60,000 60,000
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O&IIX 2HEY SHI| X XA
600, 0002 *100CH 60,000
HIIXt SHAE =t MEE A3 XA 22,200 22,200
402 2I2FX=01 & 22,200 22,200
01 QI XHE AL E R (KM THE) 22,200 22,200
OTIIXt SHAIE LS 45| £
A& 600,000 »37CH 22,200
A 2L A (0| M XICH2 D) 45,095 42,575 2,520
=3l 45,09 42,575 2,520
Jl=23H] 45,095 42,575 2,520
201 fer23| 20,495 19,415 1,080
01 AtR2t2|HI 16,200 15,120 1,080
ORANEgII123H| 16,200
—2etSHl 40,0002 x 15« 122 7,200
-S| 50,0002 x15F«12& 9,000
02 S5=2g4l 4,295 4,295 0
OHIYRRA 2ues d 252 4,295
—get 43031+9,280H 3,991
—SI 2,530&* 10 * 128 304
202 04| 21,600 20,160 1,440
01 =LHO LI 21,600 20,160 1,440
Oge=dI|1=20H|
120,000 x15E < 12& 21,600
203 HE=H] 3,000 3,000
M RFAZHLRFAI 3,000 3,000
ORNEgg =AY 250,000 x 122 3,000




